
Complete 
Ordering 
Number

Ordering Number 
of Cutter

Ordering Number 
of Antifriction GasketConnection Connection 

Ordering Number  
of Orientation Nut

Ordering Number  
of Handle

MF6 MF6

MF4 MF4

MF9 MF9

HF4 HF4

HF6 HF6

HF9 HF9

MF12 MF12

MF16 MF16

HRT-M4

HRT-M6

HRT-M9

HRT-H4

HRT-H6

HRT-H9

HRT-M12

HRT-M16

HRT-4-C

HRT-6-C

HRT-9-C

HRT-4-C

HRT-4-C

HRT-9-C

HRT-12-C

HRT-16-C

HRT-4-G

HRT-6-G

HRT-9-G

HRT-4-G

HRT-4-G

HRT-9-G

HRT-12-G

HRT-16-G

HRT-M4-G

HRT-M6-G

HRT-M9-G

HRT-H4-G

HRT-H6-G

HRT-H9-G

HRT-M12-G

HRT-M16-G

HRT-H-1

HRT-H-2

HRT-H-3

HRT-H-1

HRT-H-1

HRT-H-3

HRT-H-4

HRT-H-4

The tool is used for repairing the wearing cone seat of high pressure 

fittings or valves. A complete ordering number shall include that of the cutter, 

antifriction gasket, orientation nut and handle. The cutter, antifriction gasket, 

orientation nut and handle can be ordered separately. For detailed information, 

please refer to the instruction manual or contact .

medium and 

FITOK Group

Complete 
Ordering 
Number

Ordering Number 
of Threading Die

Ordering Number 
of Bushing

Thread Size 
(Left Hand)

9/16 × 0.312 9/16 × 0.312

3/8 × 0.125 3/8 × 0.125

1/4 × 0.109 1/4 × 0.109

3/8 × 0.203 3/8 × 0.203

1/4 × 0.083 1/4 × 0.083

9/16 × 0.188 9/16 × 0.188

HTT-4-D

HTT-6-D

HTT-9-D

HTT-4-D

HTT-6-D

HTT-9-D

HTT-4-GS

HTT-6-GS

HTT-9-GS

HTT-4-GS

HTT-6-GS

HTT-9-GS

HTT-4

HTT-6

HTT-9

HTT-4

HTT-6

HTT-9

1/4-28 UNF

3/8-24 UNF

9/16-18 UNF

1/4-28 UNF

3/8-24 UNF

9/16-18 UNF

Tube 
O.D. x I.D.

 in.

Tube 
O.D. x I.D.

 in.
Connection Connection 

MF6 MF6

MF4 MF4

MF9 MF9

HF4 HF4

HF6 HF6

HF9 HF9

Applied in T20M and T60 tubing for thread processing. All the 

manual threading tools use the same basic tools to process threads by 

replacing threading dies and guide bushings of different sizes. A complete 

ordering number shall include that of the basic tool, threading die and 

guide bushing. The threading die and the guide  can be ordered 

separately. For detailed information please refer to the instruction manual 

or contact .

series 

bushing

 FITOK Group

Threading Die Bushing 

Metal cutting oil is required for the operation of manual coning tools, manual threading tools and manual reseating tools.

Quality cutting oil serves to reduce the heat and friction between the cutter and the metal, optimize the surface finish, and 

extend the life of the cutter.

FUCHS RENOFORM MZAN 51 is offered by FITOK as cutting oil.

Ordering Number: HT-CO      

Manual Reseating Tools

Manual Threading Tools

Cutting Oil

Tools and Installation Instructions  H-05 H-04  Tools and Installation Instructions 

Installation Instructions

For Tube O.D. 1/8", 1/4", 3/8" and 1/2"

2. Insert the tubing into the fitting body or the valve. Finger tight the nut. Make sure that the tubing rests firmly on the 

    shoulder of the fitting body or the valve (Fig. 2).

3. Mark the nut and the fitting body or the valve (Fig. 3).

4. Hold the fitting body or the valve steady. For tube O.D. 1/8", tighten the nut 1 1/4 turns with a wrench. For tube O.D. 1/4", 

    3/8" and 1/2", tighten the nut 1 1/2 turns with a wrench (Fig. 4).

1. Put the nut and ferrules onto the tubing in fixed sequence and orientation (Fig. 1).

Without Manual Presetting Tool

Fig.3 Fig.4

Fig.2Fig.1

fixed

Hold the manual presetting tool steady. For tube O.D. 1/8", tighten the nut 1 1/4 turns with a wrench. For tube O.D. 1/4", 

    3/8" and 1/2", tighten the nut 1 1/2 turns with a wrench.

 or the valve 

1. Put the nut and ferrules onto the tubing in  sequence and orientation (Fig. 1).

2. Insert the tubing into the manual presetting tool. Finger tight the nut. Make sure that the tubing rests firmly on the 

    shoulder of the presetting tool (Fig. 5).

3. Mark the nut and the manual presetting tool (Fig. 6).

4. 

5. Loosen the nut and remove the tubing with preassembled ferrules from the manual presetting tool (Fig. 7).
    NOTE: If the tubing sticks into the manual presetting tool, remove the tubing by gently rocking it back and forth. Do not rotate the tubing.

6. Insert the tubing with preassembled ferrules into the fitting body or the valve. Finger tight the nut (Fig. 8).

7. Tighten the nut 1/4 turn with a wrench while holding the fitting body steady.

With Manual Presetting Tool

Fig.5 Fig.6

Shoulder Tubing

Installation of 20D Series Connections F
itt

in
g

s
S

o
u
r 

S
e
rv

ic
e
 

P
ro

d
u
ct

s
 Q

u
ic

k 
C

o
u

p
lin

g
s

L
in

e
 F

ilt
e

rs
S

u
b
se

a
 V

a
lv

e
s

To
o
ls

 a
n
d
 

In
st

a
lla

tio
n

In
st

ru
ct

io
n
s

Te
ch

n
ic

a
l 

In
fo

rm
a
tio

n
V

a
lv

e
s

T
u

b
in

g
P

a
rt

 N
u
m

b
e
r 

C
ro

ss
o
ve

r 
C

h
a
rt

s

F
ittin

g
s

S
o
u
r S

e
rvice

 
P

ro
d
u
cts

 Q
u

ick C
o

u
p

lin
g

s
L

in
e

 F
ilte

rs
S

u
b
se

a
 V

a
lve

s
To

o
ls a

n
d

 
In

sta
lla

tio
n

In
stru

ctio
n
s

Te
ch

n
ica

l 
In

fo
rm

a
tio

n
V

a
lve

s
T

u
b
in

g
P

a
rt N

u
m

b
e
r 

C
ro

sso
ve

r C
h

a
rts



For Tube O.D. 1/2  ", 9/16", 3/4" and 1"   

Fig.7

Tubing with
Preassembled
Ferrules  

 

Nut

Manual 
Presetting 
Tool

Body

Fig.8

1. Preassemble the ferrules onto tubing using the hydraulic presetting tool. For details, please contact FITOK for instruction 

    manual Hydraulic Presetting Tools.

2. Insert the tubing with preassembled ferrules into the fitting body or the valve. Finger tight the nut.

3. While holding the fitting body or the valve steady, tighten the nut 1/4 turn for tubing O.D. 1/2", 9/16" and 3/4" and 1/2"

    turn for tubing O.D. 1" with a wrench. 

For Plugs

1. Insert the plug into the fitting body or the valve.

thereafter

2. For initial installation, finger tight the nut, further wrench tighten 1/2 turn while holding the fitting body or the valve 

    body steady. For reinstallations , starting from the final tightened position in the previous assembly, further 

    wrench tighten as may be necessary. 

Cautions

1. 

2. When assembling a tube fitting, screw the nut while holding the body steady.

3. Do not use 20D Series nut and ferrules with any other FITOK tube fittings.

Do not loosen or tighten fittings when the system is pressurized.

Tools and Installation Instructions  H-07H-06  Tools and Installation Instructions 

Reinstallation Instructions

2. While holding the fitting body or the valve steady, for tubing O.D. 1

    and further tighten it with a wrench; for other dimension tubing, tighten the nut 1/4 turn with a wrench for the initial

    reinstallation, and for reinstallations thereafter, tighten the nut to the previous assembly position and further tighten it

    with a wrench.  

 

", tighten the nut to the previous assembly position

1. Insert the tubing with preassembled ferrules into the fitting body or the valve.

Installation of Medium & High Pressure Coned 
and Threaded Connections 

1. Cut off tubing to desired length and deburr ends.

Note:  When cutting tubing with abrasive cutting off wheel, tubing should not be over heated effecting material properties. 

Tips: The housing assemblies of manual coning tool can be used to clamp the tubing.

         Suitable manual reseating tool can help to deburr ends.

The length L can calculate by this way:

Fig.1

1/32"
o o58±1

Filleted 
Corner

c

D

b a

1/4 0.109× 

3/8 0.203 × 

9/16 0.312 × 

1/4 0.083 × 

9/16 0.188 × 

3/8 0.125 × 

MF6

MF4

MF9

HF4

HF6

HF9

0.55(13.97)

0.69(17.53)

0.84(21.34)

0.50(12.70)

b
in. (mm)

20000
(1379)

60000
(4137)

0.69(17.53)

0.84(21.34)

Tube 
O.D. x I.D.

 in.

Connection 
Type

Rated
Pressure
psig (bar)

L=a+2b+2 1/32"

L: Tubing length 

a: Component distance

b: Tubing engagement (please see the table below)

1/32": 

×

Standard face distance per tubing

F
itt

in
g

s
S

o
u
r 

S
e
rv

ic
e
 

P
ro

d
u
ct

s
 Q

u
ic

k 
C

o
u

p
lin

g
s

L
in

e
 F

ilt
e

rs
S

u
b
se

a
 V

a
lv

e
s

To
o
ls

 a
n
d
 

In
st

a
lla

tio
n

In
st

ru
ct

io
n
s

Te
ch

n
ic

a
l 

In
fo

rm
a
tio

n
V

a
lv

e
s

T
u

b
in

g
P

a
rt

 N
u
m

b
e
r 

C
ro

ss
o
ve

r 
C

h
a
rt

s

F
ittin

g
s

S
o
u
r S

e
rvice

 
P

ro
d
u
cts

 Q
u

ick C
o

u
p

lin
g

s
L

in
e

 F
ilte

rs
S

u
b
se

a
 V

a
lve

s
To

o
ls a

n
d

 
In

sta
lla

tio
n

In
stru

ctio
n
s

Te
ch

n
ica

l 
In

fo
rm

a
tio

n
V

a
lve

s
T

u
b
in

g
P

a
rt N

u
m

b
e
r 

C
ro

sso
ve

r C
h

a
rts




